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Algebra and Trigonometry — Exam 5 Name:

MAT 150, Fall 2017 — D. Ivansié Show all your work!
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1. (12pts) Without using the calculator, find the exact values of the following trigonometric
functions. Draw the unit circle and the appropriate angle to infer the values from the picture.
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2. (8pts) Use the unit circle to estimate the values of the trigonometric functions of the
angles drawn. Note the angles are not the standard angles.
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3. (8pts) Use identities to simplify the following expression.
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4. (14pts) Use an identity (sum, difference, half- or double-angle) to find the exact values
of the trigonometric functions below (do not use the calculator).
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Show the identities:
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7. (12pts) Suppose that ¥ < a < 27 and 7 < 8 < ¥ are angles so that cosa = 2 and

sinfg = -43, Using identities (sum, difference, half- or double-angle) and without using the i
calculator, find the exact value of tan(a + 3). - oot y Aot
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8. {f{}pta] Without using the calculator, find the exact values (in radians) 'of the following
expressions. Draw the unit circle to help you.
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9. (8pts) Find the exact value of the expressions {do not use the calculator). For one of
them, you will need a picture.
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10. (12pts) A 10-ft folding ladder is placed on a floor so that its ends are 14 feet apart.

Find the exact value for sinf (do not use the calculator), where @ is the angle the ladder
subtends.
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Bonus. (10pts) Find the exact value of the expression (do not use the calculator), Draw
the appropriate picture.
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